ﬂé Using Unit Prices Name:

Solve each problem. Answers
1) A video game store was getting rid of old games, selling them 4 for $57.12. If
they sold 5 games, how much money would they have made? 1
2,
2) Atafarming supply store 4 pounds of seed cost $100.64. If afarmer needed 7
pounds of seeds, how much would it cost him? 3
4.
3) Thebook fair had a sale where 4 books were $32.72. If you wanted to buy 7
books, how much money would you need? 5
6.
4) At the store beef jerky was $70.50 for 6 pounds. If you bought 3 pounds, how
much would it cost? 7
8.
5) At acandy store you could get 5 giant lollipops for $8.35. How much would it
cost to buy 4 lollipops? 9
10.
6) Anice company charged $6.80 for 5 bags of ice. If a convenience store bought
2 bags of ice, how much would it have cost them?
7) At the market you can buy 4 bags of apples for $16.60. At the orchard you can
get 5 bags of apples for $20.40. Which is the better deal ?
8) A store had 3 blue chairs for $43.83 or 6 red chairs for $87.48. Which color
chair has alower unit price?
9) At acomic book convention vendor 1 was selling a set of 3 comics for $29.76.
Vendor 2 was selling a set of 6 comics for $59.04. Which vendor has the higher
unit price?
10) At arestaurant 6 hotdogs cost $14.94 and 2 hamburgers cost $5.10. Which
food has the lower unit price?
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ﬂé Using Unit Prices Name: Answer Key

Solve each problem. Answers
1) A video game store was getting rid of old games, selling them 4 for $57.12. If
they sold 5 games, how much money would they have made? 1 $71.40
1 game = $14.28
2. $176.12

2) Atafarming supply store 4 pounds of seed cost $100.64. If afarmer needed 7
pounds of seeds, how much would it cost him? 3 $57.26

1 pound = $25.16

4. $35.25
3) Thebook fair had a sale where 4 books were $32.72. If you wanted to buy 7
books, how much money would you need? 5 $6.68
1 book = $8.18 '
6. $2.72
4) At the store beef jerky was $70.50 for 6 pounds. If you bought 3 pounds, how
much would it cost? 7 orchard
1 pound = $11.75 '
8. red

5) At acandy store you could get 5 giant lollipops for $8.35. How much would it
cost to buy 4 lollipops? . vendor 1

1 lollipop = $1.67
10. hotdog

6) Anice company charged $6.80 for 5 bags of ice. If a convenience store bought
2 bags of ice, how much would it have cost them?
1 bag = $1.36

7) At the market you can buy 4 bags of apples for $16.60. At the orchard you can
get 5 bags of apples for $20.40. Which is the better deal ?
market = $4.15 , orchard = $4.08

8) A store had 3 blue chairs for $43.83 or 6 red chairs for $87.48. Which color
chair has alower unit price?
blue = $14.61 , red = $14.58

9) At acomic book convention vendor 1 was selling a set of 3 comics for $29.76.
Vendor 2 was selling a set of 6 comics for $59.04. Which vendor has the higher
unit price?
vendor 1 =$9.92 , vendor 2 = $9.84

10) At arestaurant 6 hotdogs cost $14.94 and 2 hamburgers cost $5.10. Which
food has the lower unit price?
hotdog = $2.49 , hamburger = $2.55

Math 1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
www.CommonCoreSheets.com 6rp3b



	Worksheet
	Answer Key

